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QUESTION 1

What is the act of releasing a large number of row-level locks that an application holds on a single table to acquire a
table-level lock known as?

A. Lock exchange
B. Lock promotion
C. Lock escalation
D. Lock conversion

Correct Answer: C

QUESTION 2

Which statement about roll back operations is correct?

A. When a ROLLBACK statement is executed, all locks held by the terminating transaction are released.

B. When a ROLLBACK TO SAVEPOINT statement is executed, all locks acquired up to the savepoint are released.
C. When a ROLLBACK TO SAVEPOINT statement is executed, all locks acquired after the savepoint are released.

D. When a ROLLBACK statement is executed, all locks acquired for open cursors that were declared WITH HOLD, are
held.

Correct Answer: A

QUESTION 3

Which of the following privileges allow a user to update the comment on a sequence?
A. ALTER

B. USAGE

C. UPDATE

D. COMMENT

Correct Answer: A

QUESTION 4
Which object can a buffer pool be assigned to?

A. Schema
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B. Table space
C. Storage group
D. Stored procedure

Correct Answer: B

QUESTION 5

Which platform supports DB2 pureScale environments?

A. AIX
B.iOS
C.z/0S

D. Windows

Correct Answer: A
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